1st and 2nd endings
1. 2. |

e Play the 1st ending and take the repeat.

e Then play the 2nd ending, skipping
over the 1st ending.

Shave and a Haircut

Fast and happy ( J = 144-160) Traditional
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Teacher Duet: (Student plays 1 octave higher)

it el illabadad th) -
S LETETETE SRR e ot

mp

[
—~

TR

)

vl.isrg.vtir{z . :
zi 2 @;a S ) ',',gz it A
7 ﬁ = —~ o = |

.:r*’l/r e ]‘ifi

mp —— mf

s S| 7 [10] §° : 44\ 5. ; e
gi%s_%}. ﬂr‘ LIEWTESD doed o 2idaa ]
N P 3 i < i
L% . -

- - - 5
- e* D 2091 Tr R L 11
18 «* CD 202 eory p.9  £.lechp.11 Perf pp




> T = 9 = HJ_A_
g ¢ £ j*—ﬁ o=
5 S8F SO,
- AR P
s = -

el Sy 3 isegeul niovelisig. =iy oy s B g
m _%Q : ] e
— o e g -
—q: - . el -
7
Al ) 2nin i pgvel v 25 a4 3| |
A |
— &
TRt s e e -
—— et
mf’ S .
o O ‘
o) = = = 2 =
i 3 p—
1
4 5
f 1 1]
{an y E— < j - =
e L = =
Shave and a hair - cut, two bits!
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Identify each L.H. rest in the last line of music.




